
名まえ

② ５ ６.６２ー１.８

          にあてはまる不等号を書きましょう。

①

答え： 答え：

２

2

４.９１－１.８

③ ２.１３ ⑥ １.０８２

答え： 答え：

② ０.４０１ ⑤

次の数は０.００１を何こ集めた数ですか。

① ３.５ ④ １.３６２

答え： 答え：

1

２.３

⑮ 力だめし

15

(各10点)

(各20点)

目指せ90点！



4 8 2

6 2

ー 1 8

6② ５ ６.６２ー１.８

ー 1 8

3 1 1

こ

          にあてはまる不等号を書きましょう。

① ２ 4 9 1

答え： ２１３０ こ 答え： １０８２

2

４.９１－１.８

こ

③ ２.１３ ⑥ １.０８２

⑤ ２.３

答え： ４０１ こ 答え： ２３００

②

こ

名まえ

次の数は０.００１を何こ集めた数ですか。

① ３.５ ④ １.３６２

答え： ３５００ こ 答え： １３６２

1

０.４０１

⑮ 力だめし 答え

15

.

.

.

.

.

.

>

>

(各10点)

(各20点)

目指せ90点！


